
(Josquin des Prez)
47. Stabat mater

Anonymous


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



  

 







2)
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
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

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
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
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



 


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20 




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

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
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

GB-Eu:Edinburgh University Library ms Dc.5.125:Thistlethwaite lute book (c.1595), f.78v. Encoded and edited by Sarge Gerbode.

9) Rhythm flag ½ value in orig.
8) Rhythm flag missing in orig.
7) In orig., 4 rhythm flags double value and 2 bracketed notes e.
6) 4 rhythm flags double value in orig.
5) Note indistinct.
4) 4 rhythm flags double value in orig.
3) 4 rhythm flags double value in orig.
2) Dot added by editor and rhythm flags 3 and 4 ½ value in orig.
1) 2 rhythm flags 4x value in orig.
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




  
   


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  








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4) 4 rhythm flags double value in orig. Same with last 4 flags.
3) 4 rhythm flags double value in orig.
2) d in orig.
1) 4 rhythm flags ½ value in orig.
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
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
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
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




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

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




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







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
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
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
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
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

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
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


 
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











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



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


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
































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



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






       


















 









     


















  









    




















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

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
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
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
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













 








       





















 








  































    

80 





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4) Rhythm flag one position to left in orig.
3) 4 rhythm flags double value in orig.
2) Redundant and unplayable h on 6th course deleted here. Bracketed note a in orig..
1) 2 rhythm flags double value in orig.


